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1. If V; increases from 2V — 6V then change of
current will be-

V. e EI +3V

1 150Q .


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8LpCjkXYvDhZ

A. zero

B. 20 Ma

C. 80/3mA

D.40mA

Answer:

o Watch Video Solution

2. Two waves, whose intensities are 9,16 are made to
interference. The ratio of maximum and minimum

intensities in the interference pattern is -


https://dl.doubtnut.com/l/_8LpCjkXYvDhZ
https://dl.doubtnut.com/l/_ZbXV1YvKZFMH

A.49:1

B.49:16

C.7:1

D.4:3

Answer:

° Watch Video Solution

3. A straight conductor of length 0.5 m is placed in a
magnetic field ]§<2% + 43) T. It carries a current 1A
along +ve x-axis. The magnitude and direction of

force acting on the conductor respectivley are -


https://dl.doubtnut.com/l/_ZbXV1YvKZFMH
https://dl.doubtnut.com/l/_eUtjadfYgc6b

A. 2N along+ ve z-axis
B. /18N along + ve z-axis
C.4 N along +ve y-axis

D. /2N along +ve x=axis

Answer:

° Watch Video Solution

4. An q-particle and a proton having same

momentum ente into a region of uniform magnetic

filed and paths % in the field is-
p


https://dl.doubtnut.com/l/_eUtjadfYgc6b
https://dl.doubtnut.com/l/_9BZtNEt0mhdt

Answer:

o Watch Video Solution

5. + g point charge is placed at the centre of a
hemispherical surface. Amount of electrical flux

crossing through th surface will be


https://dl.doubtnut.com/l/_9BZtNEt0mhdt
https://dl.doubtnut.com/l/_LhbubRi5oQOh

A.q/eg
B. Q/Z&'O
C. Q/380

D. QQ/&‘O

Answer:

o Watch Video Solution

6. In the circuit

AB = 69, BC = 3Q,CD = 6Q, DA = 120, G = 10Q


https://dl.doubtnut.com/l/_LhbubRi5oQOh
https://dl.doubtnut.com/l/_05TwoHzyQKmC

Current through galvanometer is-

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_05TwoHzyQKmC

7. Two point charges separated by a distance d apart

each other with a repulsion force 9.N. if the

separation between becomes 3d, the force of

repulsion will be -

A. 1IN

B.3N

C. 6N

D. 27N

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_68tznjy6C2ZK
https://dl.doubtnut.com/l/_SsRVBfUHlzdW

8. The process in which the amplitude of the carrier

wave is made proportional to the instantaneous

amplitude of the signal wave is called

A. Amplitude modulation

B. demolution

C. rectification

D. amplification

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_SsRVBfUHlzdW

9. A biconvex lens behaves like a convergent in air
but hehaves like a divergent in water. Then refractive
index (ur,) of the lens will be -

A. H = 1

B. ' mu_[=1.33

C. 1ltmu [t 133

D.1 <y <1.33

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_3KSdYFIn5fSN

10. The equation of an A C. s
i, = 3sin(wt) + 4cos(wt) Then rm,s value of this

current will be-

SRR R EI

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_DkZqENtMWPh2

11. Angle of dip 90° NN at-

A. Magnetic south pole

B. Magnetic north pole

C. Geographic south pole

D. Geographic north pole

Answer:

o Watch Video Solution

12. The energy of an electron revolving around the

nucleus of H-atom is —1.51 eV . Angular momentum


https://dl.doubtnut.com/l/_y8msz5MvTijc
https://dl.doubtnut.com/l/_0AyLkw4P6O5e

of this electron will be-

A —

h
2

h
B. 257'('

h
C.BE

s

p. 42
s

Answer:

° Watch Video Solution

13. A wire is stretched by 1% but volume remains

constant, then -


https://dl.doubtnut.com/l/_0AyLkw4P6O5e
https://dl.doubtnut.com/l/_H3ovTVaggohT

A. resistivity increase by 1%

B. resistivity increases by 2%

C. resistivity decreases by 1%

D. resistivity decreases by 2%

Answer:

o Watch Video Solution

14. The dimension of electric potential is

A [ML*T ?A71]

B. [ML°T °A~]


https://dl.doubtnut.com/l/_H3ovTVaggohT
https://dl.doubtnut.com/l/_8O9Zx1MnJ6gZ

C. [MLT?A™"]

D. [ML*T°A™]

Answer:

o Watch Video Solution

15. At which temperature is a semiconductor

completely transformed to an insulator?

o Watch Video Solution



https://dl.doubtnut.com/l/_8O9Zx1MnJ6gZ
https://dl.doubtnut.com/l/_D7vxsTHJhvps

16. After what time will the direction of current in an

electric supply line of frequency 50Hz be reversed?

° Watch Video Solution

17. Which physical quantity has the unit Wb/m?? Is it

a scalar or a vecotr quantity?

o Watch Video Solution

18. Sunray, sodium light an head light of an

automabile--which of these light are polarised?

| o WAL _L 2wl _ _ ~_01..0°_


https://dl.doubtnut.com/l/_RrlAhWhSoLz8
https://dl.doubtnut.com/l/_8fRvDdf4vDUO
https://dl.doubtnut.com/l/_rDuI2kCJJVZ2
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19. How is the direction of a magnective field B at a
point related to the magnetic line of force passing

through that point?

° Watch Video Solution

20. A long straight wire of length of length | is
moving within a uniform magnetic field B With a
velocity v perpendicular to the field . How much em f.

will induced?

o Watch Video Solution



https://dl.doubtnut.com/l/_rDuI2kCJJVZ2
https://dl.doubtnut.com/l/_QNyFHwpfrpUC
https://dl.doubtnut.com/l/_TvwLYxQvZpi7

21. E.MF. of electrical cell is 2 volt. A 102 resistance is
joined at its two ends then potential difference in
measured 1.6 volt. Find out the internal resistance

and lost volt.

° Watch Video Solution

22. A copper wire of length | metre in bent to from a
circular loopl[. If I amp current flows through the
loop, find out the magnitude of magnetic moment of

the loop.

° Watch Video Solution



https://dl.doubtnut.com/l/_TvwLYxQvZpi7
https://dl.doubtnut.com/l/_cWLgff45jkql
https://dl.doubtnut.com/l/_PJGogYmEPwUh

23. Write down the Biot-Savart law. Show its vector

from.

° Watch Video Solution

24. Name any two electromagnetic waves. State any

one similarity and one dissimilarity between them.

o Watch Video Solution

25. How many «a and B particles are emitted when

U3 changes to Pb*% due to radioactivity? Atomic


https://dl.doubtnut.com/l/_PJGogYmEPwUh
https://dl.doubtnut.com/l/_AiEJYeudL1rn
https://dl.doubtnut.com/l/_j3uqgFpQyrqD
https://dl.doubtnut.com/l/_7UH3aeKxctFu

number of U?*®, Pb?%® are 92 and 82 respectively.

o Watch Video Solution

26. A TV tower is 120 m high. How much more height
is sto be added to it if its coverage range is to

become double?

° Watch Video Solution

27. Draw a neat diagram of Amplitude Modulated

wave. Write down the formula of modulation index.

o Watch Video Solution



https://dl.doubtnut.com/l/_7UH3aeKxctFu
https://dl.doubtnut.com/l/_StpaYOoiN2wJ
https://dl.doubtnut.com/l/_S6KBykX9ffn9

28. State Gauss' theorm. With the help of this
theorem find out the electrical intesity at any nearby
point due to a uniformily charged thin and long

straight wire.

° Watch Video Solution

29. Define electrical dipole moment. An electrical
dipole with a uniform electric field (E) and is rotated

to an angle a; to a4 . Find out the work done.

° Watch Video Solution



https://dl.doubtnut.com/l/_S6KBykX9ffn9
https://dl.doubtnut.com/l/_Ne5TUSYlAVg3
https://dl.doubtnut.com/l/_dcwkBf3BYVsX
https://dl.doubtnut.com/l/_d6kunIn1XLlb

30. On what factors does the capecitance of a

capacitor depend ?

o Watch Video Solution

31. Two capacitors of capacitances 20uF and 60uF
are connected in series. IF the potential difference
between the two ends of the combination is 40 volt,
calculate the terminal potential difference pf each

capacitor.

o Watch Video Solution



https://dl.doubtnut.com/l/_d6kunIn1XLlb
https://dl.doubtnut.com/l/_UgbgQYl32Inb

32. Derive an expression for the torque on a
rectangular coil of area A carrying. A current | and
placed in a uniform magnetic field B. Indicate the

direction the torque acting on the loop.

o Watch Video Solution

33. Define electromagnetic unit of current.

o Watch Video Solution

34. Define angel of dip at a place. What will be the

value of the angle at the poles and the equator of


https://dl.doubtnut.com/l/_wYE7Ob0FE4Qk
https://dl.doubtnut.com/l/_gpBoiK9dLBbi
https://dl.doubtnut.com/l/_mmbLDQEG2GYM

the earth? Aat what place on the earth's surface will
the horozontal component of the eath's magnetic

field and is verticle component ne equal?

o Watch Video Solution

35. Mention how the relative magnetic permeability
differs for diamagramatic, paramagnetic an

ferromagnetic substances.

° Watch Video Solution

36. What is wavefront of a wave?

| e


https://dl.doubtnut.com/l/_mmbLDQEG2GYM
https://dl.doubtnut.com/l/_hHEMaipEKEc9
https://dl.doubtnut.com/l/_h0cvY9sX3XMQ

| & Watch Video Solution |

37. In Young's double sllit experiment, What in the
effect on the interference pattern if,

the distance between the two slits is halved.

o Watch Video Solution

38. In Young's double sllit experiment, What in the
effect on the interference pattern if,
The distance between the screen and the plane of

slits is doubled.

o Watch Video Solution



https://dl.doubtnut.com/l/_h0cvY9sX3XMQ
https://dl.doubtnut.com/l/_Dkp8HBdZHsHc
https://dl.doubtnut.com/l/_AF83xdhdbewX

39. In Young's double sllit experiment, What in the
effect on the interference pattern if,

One of the slits in covered with translucent paper.

o Watch Video Solution

40. In case of refraction write down the relation
between critical angle and refractive index of the

denser medium.

° Watch Video Solution



https://dl.doubtnut.com/l/_AF83xdhdbewX
https://dl.doubtnut.com/l/_4W5EqhDb6Xn1
https://dl.doubtnut.com/l/_wFx2Xyod2p06

41. For minimum deviation §,, , assuming that angle
of incidence = angle of emergent, show that the

refractive index of the material of the prism is

A+6m

Sin 5

= siné
2

Or, Show the ray diagram of a ray of light through a
thick another face. Show that
0=1 +i3— A and A=1ry+ry . The symbols

have their usual meaning.

° Watch Video Solution

42. An object of height 2.5 cm placed perpendicularly

on the principle axis of a concave mirror of focal


https://dl.doubtnut.com/l/_ZoD1Y7JEZsm1
https://dl.doubtnut.com/l/_rLNDemtJa3uk

3
length f at a distance of Zf What will be the nature

of the image of the object and its height?

° Watch Video Solution

43. A person uses spectacles of power +2D. What

type of defect of vision is it?

o Watch Video Solution

44, Under what potential difference should an

electron be accelerated to obtain de Broglie,


https://dl.doubtnut.com/l/_rLNDemtJa3uk
https://dl.doubtnut.com/l/_4v8JPq3wRa6o
https://dl.doubtnut.com/l/_IumvbzHKUt93

wavelength of 0.6;1?

(h = 6.62 x 10~ **j. 5, m, = 9.1 x 10 *'kg)

o Watch Video Solution

45. Give an example of production of electron by

photons.

° Watch Video Solution

46. Write down Eistein's photoelectric equation.

o Watch Video Solution



https://dl.doubtnut.com/l/_IumvbzHKUt93
https://dl.doubtnut.com/l/_6LoOLSMeV7Z8
https://dl.doubtnut.com/l/_zlfOnrmcl0Pp
https://dl.doubtnut.com/l/_IqIqE3dn1PHl

47. Light rays of wavelength A and % are incident on
a a photosensitive metal surface, IF the maximum
kinetic energy of the emitted photoelectrons from
the metal surface in 2nd case be 3 times the
maximum kinetic energy of emitted photoelectrons
in the 1st case then determine the work function of

the metal.

o Watch Video Solution

48. If the value of Rydberg constant of hydrogen is
109737 ¢cm ~! determine the longest and shortest

wavelengths of the Balmer series.

| s |


https://dl.doubtnut.com/l/_IqIqE3dn1PHl
https://dl.doubtnut.com/l/_2KAtUcNWywEU

| & Watch Video Solution

49. What is meant by half life of a radioactive

element?

° Watch Video Solution

50. Wht are the majority and minority carriers in a p-

type semiconductor?

o Watch Video Solution

51. Write down the symbol and truth table OR gate.


https://dl.doubtnut.com/l/_2KAtUcNWywEU
https://dl.doubtnut.com/l/_bp3aJBydbw2R
https://dl.doubtnut.com/l/_qdn3ZjXovqHj
https://dl.doubtnut.com/l/_8K3DSEgYA6kC

o Watch Video Solution

52. Convert the binary number 10011 into decimal

equivalent .

o Watch Video Solution

53. Why are Si and Ga-As perferred materials for

solar cell?

o Watch Video Solution



https://dl.doubtnut.com/l/_8K3DSEgYA6kC
https://dl.doubtnut.com/l/_6CquSo247aZM
https://dl.doubtnut.com/l/_314g3nQONOGb

54. Transistor-what does it mean ?

o Watch Video Solution

55. When an n-p-n transitor is used as an amplifier?

o Watch Video Solution

56. In a potetiometer experiment why is ti necessary
to use a long wire?

Length and resistence of a potetiometer wire are 4m
and 102 respectively. It is concerned to a cell of mef2

volt. Another cell when joined to this potntiometer


https://dl.doubtnut.com/l/_7Tp8js3O3VhW
https://dl.doubtnut.com/l/_TRN0g5sPFdzS
https://dl.doubtnut.com/l/_R2Xcke57F7kj

and null point is meausred at 250 cm. Find out the

emf of the second cell.

° Watch Video Solution

57.In a meter bridge when the resistance in the lift
gap, is 2{2 and an unknown resistance in the right
gap, the balance point is obtained at 40 cm from
Zero end. On shunting the unknown resistance with

2() find the shift of the balance point on the bridge.

o Watch Video Solution



https://dl.doubtnut.com/l/_R2Xcke57F7kj
https://dl.doubtnut.com/l/_tMzKD1TZRjrC

58. What is shunt?

o Watch Video Solution

59. Explain wheatstone bridge principle with the help
of Kirchhofffs law Does the principle of Whentstone
brioght change in the position of batterry and

galvanomneter are interchanges?

o Watch Video Solution

60. 36 cells each of internal reistance 0.5{2 and

em f1.5V each are used to sent current an external


https://dl.doubtnut.com/l/_WBk3440RkxqZ
https://dl.doubtnut.com/l/_yq2cofCc8o1W
https://dl.doubtnut.com/l/_zpzzIDZgiq5t

circuit of 2() reesistance. Find the best mode of
grouping them for maximum current of and the

current through the external circuit.

o Watch Video Solution

61. Lenz's law of electromagnetic induction

corresponds to

° Watch Video Solution

62. What is eddy current?

o Watch Video Solution



https://dl.doubtnut.com/l/_zpzzIDZgiq5t
https://dl.doubtnut.com/l/_74mP2MdJzR29
https://dl.doubtnut.com/l/_xNvSBO8MgwAl

63. What is meant by 'self-inductance of coil is 1TH ?

o Watch Video Solution

64. What is meant by self-induction of a solenoid.

o Watch Video Solution

65. Eatablish an expression for self-inductance of a

solenoid.

o Watch Video Solution



https://dl.doubtnut.com/l/_xNvSBO8MgwAl
https://dl.doubtnut.com/l/_0FUaCWxzsqEY
https://dl.doubtnut.com/l/_ebZGcUod7Xyg
https://dl.doubtnut.com/l/_ev8yucfPNH2E

66. An a.c. source generating voltage e = e, sinwt is
connected to a capacitor of capacitance C' . Find the
expression for the current I flowing through it. Plot

a graph of e and | versus wt

o Watch Video Solution

67. Determine the resonant frequency w,of a series
LCR circuit with L=2.0 H,C=32uF" and R=10€2. What is

the Q-value of this circuit?

° Watch Video Solution



https://dl.doubtnut.com/l/_5UUl9XJkEMew
https://dl.doubtnut.com/l/_sVAUobrgpRcF

68. Two convex lenses of focal lengths f; and f5
respectively are placed in contact each other. Then

what will be power of their equivalent lens?

° Watch Video Solution

69. wrtie down the conditions for constructive

interference.

o Watch Video Solution

70. The refractive index of glass is 1.55 what is its

polarising angle? Determine the angel of refraction


https://dl.doubtnut.com/l/_NXuZVTEhPQRD
https://dl.doubtnut.com/l/_K7r1pvYvUhkk
https://dl.doubtnut.com/l/_lt2lbq1Ku7Lm

for the polarising angle.

o Watch Video Solution



https://dl.doubtnut.com/l/_lt2lbq1Ku7Lm

